Dé Mairt 16u Meitheamh

2 x40 = 6 x 10
3x2= 30 + 6

3x11= S5x6=
B x2= Lo iff=

30+5= 24 +6

11 x4 = 30+10=

6x2= 90 =9
10x3 = 99'+9

50+ 11 = 108 + 12 =

O9x3= 10+2

10

10

11 x1=
2x3=

3x05=

88 + 11 =
56 + 7 =

11x5=
11 x 2=
11 %6 =
20 +5 =
40 +5 =

10

Scriobh ndta deas duit fhéin:




Gafale Matalch 68:1, 4,5

7
1 agus 3 de thacar

1. Criochnmgh é seo.

* o {;“5 (@) Ta _ dhuilleog san jomldn ann.
¥ Ejg, (b) Ta _ cinn diobh daite.
I t g":?, (c) ;de = -
2. (o) Ta _ triantdn san iomlén ann. A A A A A
(b) Té __ cinn diobh daite. ANNNANN
@  d 2 ANANNANNA
e AAADA

(a) Té  licin san mnlﬁ -any

OQ OOO OOQ (© Td—_cmndg,:,t’hd

. (d) de =
4. Bain trigil astu seo anois.
(@) 3de10=_ :(b)1del4=
() 3de18=  i(d)Jde2= i (e) yde22=_
® 1des0= (@ ide2%= (hlde30=

i) jde28= (0 fde36= (d)l
i) 7de4D=_ :(g) tde8= (h)}

= () jdel= : (0 $de12=

ffTﬂﬁuna ceathm diobh.




3 and 1 of a set
1. Complete the following.

MM (o) Thereore  leaves altogether
1itM Ay () of them are coloured.

@ of =
2. triongles obogether. (A A A A
(8)  of them are coloured. AAAA
{c) of = A~Q_A_A_é
FAWAWAWAWAY
3. (0) There are ____ counters altogether.
O%gc%%o% (b) Colour } of this set of counters.
O d } (<) of them are now coloured
O O O O (d) of -

4. Now try these. Mth:n:hs
(ol§of10=__  i(elfollé= e okl

(©§of18a__  i@iof2=___ i) dof22.

(0 fofdDm _ i(gifef24w  i(h}of30=

5. (@) fof16= i(b) fof28= i) Lof36=_ i(d) }of20=
@dofam it fafd0=_ (g fofB=_ ith fofdB=
M $of32e  iG) fofle i) tol12e i@ fof24m

6. There were 44 apples in o bowl
Tatieno took a quarter of them

Write o number sentence to show this: + of B m

7. (Fof24)+ (Fol24) =+ =







